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2 6

1 (i) 4, 64 (ii) 6, 343 (iii) 2, 119

2 (iii), (iv)



1

 76

3 (i), (iv)

(ii), (iii)

2 7

1 (i), (iii)

2 (i) 147 (ii) 3 432 (iii)
8

75

3 (i) 3 25 (ii) 3 93 (iii) 4 24

2 8

1 79 2 222 3 227 4 3

5 33 6 3 230 7 342536251

2 9

1 3 220 2 3 53 3 3 4 6

25

216

5 3 4 6 4 9 7 336 4,2,3 8 343 2,3,4

2 10

1 (i) 3 7 (ii) 12 (iii) 33 yx

2 (i) 5
5

12
(ii)

17

512
(iii)

3

55

3

8
(iÃk) 32

3 14

4 262
4

1

5 6

6
171

720

171

179
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77

1 (i) 52 × 32 × 73 × 92 (ii)
4

9

7

2 (i)
56

5
(ii)

105

1

3 (i) 24 × 32 × 54 (ii) 1 (iii) 
15

13

3

4 (i) (ii)

5 (i) (32)18 (ii) 111 (iii) 
2

9

2

6 x = 8

7 x = – 6

8 27 × 34 × 54

9 33 × 107

10 (ii), (iii), (iÃk)

11 (i) 2 27 (ii) 3 500 (iii) 5 6250

12 (i) 4 53 (ii) 5 102 (iii) 3 24

13 (i), (ii)

14 (i) 3
6

127
(ii) zero (iii) 25

15 (i) 3 3 (ii) 3 6

16 (i) 43 5,4,3 (ii) 2,4,3 3

17 12,320,16 63
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18 (i) 763 (ii) 373 (ii) 549

19 (i)
4

622
(ii)

70

10527557

20 a = 11, b = –6

21 14


